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Part One 於下列每題選項中選出一個與每題當中標示粗體的字或片語意義最接近的答案
 1. You need to have a clear notion of what to do in the future. (統測95年考題)
   A) idea   B) model  C) pain  D) taste
2. As an international language, English allows people of different countries to converse in a common language. (統測96年考題)
   A) prescribe   B) communicate    C) plan   D) manage 
 3. A model’s job is to make a product exciting and appealing so the public will want to buy it. (統測96

年考題)
   A) negative    B) extensive    C) attractive    D) inactive
 4. You should think very cautiously before you make an important decision. (統測95年考題)
   A) actually  B) carefully   C) entirely   D) generally
 5. Tension and anxiety at test time may cause students to forget what they have read. (統測96年考題)
   A) honesty   B) traffic   C) noise   D) worry
 6. After four attempts, Mike finally passed his driving test and started to drive happily to work right 

away. (統測95年考題)
   A) obviously    B) apparently  C) immediately  D) eventually
Part Two 請於每題選項中選擇一個最適當的答案，以完成該句
 7. The high risk of getting lung cancer still cannot __________ people from smoking. (統測94年考題)
   A) discourage   B) repeat   C) discover  D) emerge
 8. My cellphone is low on battery; it keeps beeping to remind me of _________ it. (統測94年考題)
   A) relaxing    B) recycling     C) recharging    D) reviewing 
 9. Taking regular vacations is necessary for those who __________ too much on work. (統測96年考題)
   A) complicate    B) concentrate    C) contain    D) consist
10. The first computer was built in 1946; it ___________ more than 140 square meters of floor space. (統測95年考題) 
   A) put on    B) gave in    C) took up    D) made of
11. Last month, fifty couples, who were married for fifty years and more, __________ their golden

 anniversary in the city hall. (統測94年考題)
   A) celebrated  B) confirmed   C) contributed   D) combined
Part Three 請於下列共同參考選項中選擇各題最適當的一個答案，以完成該句
12. The businessman is very __________; he gives money to those who are in need of help. (統測94年考題)
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13. Learning the basic pronunciation __________ helps students spell English words more easily. (統測

96年考題)
14. Because his speech was __________, the audience gave him a big hand. (統測94年考題)
15. In the U.S. one should make a(n) __________ before going to see a doctor. (統測95年考題)
參考選項：

(A) flawless       (B) principals     (C) obtain      (D) appointment     (E) remote
(AB) principles    (AC) luxurious    (AD) supply    (AE) evidence       (BC) generous 

二、對話題：6 %

Part One 請依每題對話內容於下列參考選項中選出一個最適當的答案，使其成為有意義的對話
16. Amanda: I need a big favor from you.

Yoko: What favor?

Amanda: Could I borrow a hundred dollars?

Yoko: No way! __________ (統測94年考題)
17. Tracy: May I ask you a favor?

Janet: __________ What is it?

Tracy: Would you lend me three hundred dollars?

Janet: Sure, if you promise to return the money on Wednesday. (統測95年考題)

18. Roger: When did you come to this country?

Wen-hua: __________

Roger: I asked when you came to this country.

Wen-hua: Oh, I see.  I cam here two years ago. (統測96年考題)
參考選項：
(A) I can’t believe it!
(B) That’s a pity.
(C) Pardon me?
(D) I’d like to make a deposit.
(E) I seldom have time.
(AB) Well done.
(AC) Who’s speaking?

(AD) That depends.

(AE) I’m broke myself.

(BC) What’s wrong?
Part Two 請將下列各題順序排列成合乎邏輯的對話
19. (a) Jack: I’m sorry to hear that.
   (b) Adam: How are you today?

   (c) Adam: Not too good.  My grandfather is very sick in the hospital.

   (d) Jack: Fine.  And you?
   上述四句合乎邏輯的對話排列順序為? (統測96年考題)
   A) bacd  B) bdca  C) badc  D) bdac
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20. (a) Peter: Hello. May I speak to Manager Chen, please?

   (b) Peter: Yes.  This is Peter Li.  Please tell him to call back.

   (c) Secretary: I’m sorry.  He’s not in right now.  May I take a message?

   (d) Secretary: Good morning, Johnson’s Computer.

   上述四句合乎邏輯的對話排列順序為? (統測94年考題)

   A) adbc  B) acbd  C) dbca  D) dacb
21. (a) Helen: Grilled tomatoes.

   (b) Helen: Potatoes are great!

   (c) Brenda: What should we have to go with the meat?

   (d) Brenda: We had that last time.  Let’s have potatoes.

   上述四句合乎邏輯的對話排列順序為? (統測95年考題)

   A) dacb  B) cadb  C) cbda  D) dbca 
三、克漏字測驗：18 %
Part One 下面兩篇短文共有12個空格，每題有四個選項，請依各篇短文文意，選出一個最適合該
        空格的答案
   Job hunters need many skills.  They need to know where to look for a job, and they need to be able to write clear, complete information about themselves in letters of application.     22   , they need to know how to transfer this information on to a job application form.  Furthermore, they need to know
   23    to get information about a job over the telephone.  And finally, job seekers must know the techniques of a job interview. 

First, where to find a job?  Jobs can be found in the daily newspapers, in the   24   advertisement section, as well as on the Internet.  Many find jobs by networking — that is, they let their friends and relatives know that they are looking for a job.  Networking is increasingly popular, and,    25   , it often works.

Once a possible job has been found, what should job hunters do?  First, they must learn all about the job and ask themselves these questions: Am I qualified for this job?  Do I want this job?  Is it challenging?  Is it interesting?  Does it pay well?  If all these are answered positively, then the next step the applicants need to do is to apply for the job.  Nearly every job    26    some forms of written application.  Most job application forms ask for similar information about    27    data, including educational background, employment history, and references. (統測94年考題)
22. A) In sum  B) In contrast  C) In time   D) In addition 
23. A) how   B) what   C) that   D) it

24. A) classical   B) classified   C) classicist   D) classicism
25. A) best of all   B) no at all   C) once and for all   D) all over

26. A) admits   B) requires  C) searches   D) teaches
27. A) anxious   B) creative   C) personal   D) dependent
Have you ever said sorry even though you were not in the wrong? Sometimes people have to apologize in situations where they are not personally    28    fault.  This is very common in the workplace    29    employees often have to handle customers’ complaints.  In   30   complaints, the employee can save face or preserve the reputation of his or her company by making apologies.  If the employee gets angry or denies responsibility, both the employer and the employee can lose face.
The concept of    31    is extremely important in Asian cultures.  It includes making apologies, 
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rules about accepting responsibility, showing modesty, and using    32    language forms in social 
interaction.  If a person     33    these rules, he or she can lose face, and in turn lose the respect of others.  This is quite a serious matter, especially where business is concerned. (統測96年考題)

28. A) for   B) on   C) at   D) by
29. A) how   B) what    C) why    D) where
30. A) going after   B) dealing with   C) breaking up with   D) chasing after
31. A) saving face   B) making complaints   C) ignoring protests   D) finding fault
32. A) proper   B) rude  C) incomplete   D) offensive
33. A) follows  B) passes   C) breaks   D) teaches 
Part Two 請於文中空格處，選填入以下參考答案中最符合該篇短文文意的答案
Panda babies are weak and need tremendous care.  When pandas are born, they are very small and delicate.  Their average     34    at birth is only about 90 grams.  Panda babies are actually smaller than a mouse.  They cannot see or walk.      35    they receive close attention, panda babies die easily.  According to a recent medical study, 61 percent of the pandas that are born in zoos die soon after birth.  The number could be     36    if we did nothing.  In China, and in zoos all over the world, people are trying to help pandas have healthy babies.  The     37    is that the panda is an endangered species.  There are almost no pandas left in the    38   .  However, we are getting better at helping pandas have healthy children.  This year nine zoo pandas have had a baby so far, and ten more are     39   .  Maybe one day the panda won’t be an endangered species any more. (統測95年考題)
參考答案：

    (A) height       (B) As if      (C) worse        (D) pregnant     (E) Even though

    (AB) reason     (AC) wild      (AD) weight     (AE) better      (BC) excuse   
四、閱讀測驗 (閱讀下列短文後，選出各題最適當的答案)：18 %
Nowadays millions of people watch their weight because they realize it is not healthy in most cases to be too fat.  So they “count calories.”  This means they find out how many calories different foods produce and try to keep the calories down.  But after all, what is a calorie?  The amount of heat required to raise the temperature of one gram of water by one degree Celsius (1 °C) is called one gram calorie.  Different foods provide different amounts of calories.  One gram of protein, for instance, contains four calories, and one gram of fat contains nine calories.  The human body turns consumed calories into the energy it needs.  It does not care where it gets its calories as long as it gets enough to keep functioning.  How many calories does the body need?  It is estimated that an average adult needs somewhere between 2,000 and 3,000 calories per day, depending on the work the person does.  What happens if a person takes in more calories than he or she needs?  Well, the food is not burned off to produce the energy the body needs but is transformed into fat instead!  That is the reason why many people are now “counting calories.”  (統測96年考題)
40. The above passage MOST likely appears in a _______________.
   A) personal diary  B) travel guide  C) weather report  D) health magazine
41. According to the above passage, the amount of calories the body requires depends mainly on ______.
   A) where we live   B) our gender   C) our job   D) how we cook
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42. According to the above passage, which of the following is TRUE?
   A) One gram of fat contains more calories than one gram of protein does.

   B) Extra calories are immediately turned into the energy we need.

   C) People are counting calories because they want to raise water temperatures.

   D) The amount of calories we take in does not influence our weight.
People have always searched the sky for clues about upcoming weather.  Throughout the ages, farmers and sailors have looked to the winds and clouds for signs of approaching storms.  But no real understanding of the weather could be achieved without a scientific study of the atmosphere.  Such a study depends on being able to measure certain conditions, including pressure, temperature, and moisture levels. 

A true scientific examination of weather, therefore, was not possible until the development of accurate measuring instruments, beginning in the 17th century.  Meteorology — the science of studying the atmosphere — was born in 1643 with the invention of the barometer, which measures atmospheric pressure.  The liquid-in-glass thermometer, the hydrometer to measure humidity — the amount of moisture in the air — and the weather map also were invented during the 1600s. 

With the measurement of these basic elements, scientists began to work out the relationships between these and other atmospheric conditions, such as wind, clouds, and rainfall.  Still, their observations failed to show an overall picture of the weather.  Such complete weather reporting had to wait two centuries for the rapid transfer of information made possible by the invention of the telegraph during the 1840s. (統測95年考題)
43. The phrase “these basic elements” in the third paragraph refers to all of the following EXCEPT __________. 
   A) rainfall   B) pressure   C) moisture    D) temperature
44. Which of the following statement is NOT true according to the passage?
   A) To have a full understanding of the weather, we need to study the atmosphere scientifically.

B) The study of the atmosphere is generally called “meteorology.”
   C) The major instrument for measuring atmospheric pressure is the barometer.

D) Farmers did not begin to search the sky for clues about storms until the 17th century.
45. According to the passage, complete weather reporting _______________.
   A) failed to show the overall picture of the weather 
   B) was not made possible until the 17th century 
   C) became possible after the invention of the telegraph 

   D) had to wait two centuries for the weather map to be developed 
Nature is full of examples of cycles. The seasons come and go in a cycle of spring, summer, autumn, and winter.  The days move in cycles of day and night.  And all living things live, grow, and die in cycles.  For example, a sapling grows tall and strong.  Then, one spring, the tree blossoms.  These flowers later turn into fruit or other types of seeds.  When these seeds fall, they land on the ground.  The seeds can then grow.  If the seeds get enough sunlight and rain, they will become young trees.  As the trees blossom, the cycle repeats itself. 

Rain also occurs in cycles.  Water evaporates from the oceans and rises into the sky.  This means that the ocean water is warmed by the sun and some of it rises into the air.  When enough water has gathered together, big rain clouds form.  The clouds will release or drop the water.  The rain falls on land and ocean alike.  When the rain falls on land, the ground soaks up some of it.  If a lot of rain falls, the runoff flows into streams, rivers, and lakes.  This water, in turn, flows into the oceans.  When some 
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of this water evaporates into the air, the cycle repeats itself.  (統測94年考題)
46. This passage is mainly about __________ . 
   A) the growth of trees     B) the cycles of nature 
C) the falling of the rain   D) the seasons of the year
47. The underlined word evaporates in this passage most likely means “ __________.”
   A) falls                     B) melts 
   C) turns from air into water     D) rises from water into air
48. Based on the passage, what is one effect of evaporation?
   A) The oceans rise.     B) Big rain clouds form.
C) Trees blossom.      D) The skies become clear.
五、篇章結構 (將下列參考答案四個選項依文意邏輯選填入各個空格中)：8%
Alzheimer’s disease is generally found in people over 65 years of age, although there are rare cases diagnosed in people in their mid-thirties.  There is currently no cure for this disease.  　 49 　 While medical treatment and psychosocial intervention such as counseling and psychotherapy are commonly used to treat the disease, doctors also recommend lifestyle and occupational therapies. 　 50   Patients are advised to stick to simplified routines; changes of routine should be avoided as they may trigger anxiety.    51   For example, often-used household items should be kept in a certain place, and doors or drawers should be labeled so the patient can find things easily.  　 52   　These simple measures not only can improve the patient’s functional performance but can ease the caretaker’s burden.

參考答案：
(A) These refer to making modifications to the lifestyle and living environment of the Alzheimer’s \

   patient.
(B) Research also shows that low levels of light during meals and consistent background music of the 
   patient’s choosing are beneficial to the patient.
(C) Although medications may offer relief from some symptoms in various patients, they can not slow
   or prevent the disease from progressing.
(D) Adjustments to the home environment help to make day-to-day life easier for the patient.
__________ 以下為非選擇題，請於所附的答案紙作答 __________

六、文意字彙與詞類變化：20%
53. Thai and Indian cuisines use a lot of spices to e          e the flavors of the food.
54. When he drove by the house where he had spent all of his childhood, he r          ted how much fun he had had playing soccer in the backyard.
55. The poor dog was attacked by a wolf and ended up becoming p          y blind.
56. It seems to me that Helen’s broken marriage is i          e. I know she and her husband are no match made in heaven, but I still feel sorry for their children.
57. Our trip to Europe was c          led by one week when my grandmother suddenly fell ill and we had to go home immediately.
58. He seems to have e         y power over his employees; they work overtime just to please him.
59.          (herb) medicine works slowly but it is better for your body.
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60.          (transmit) of television signals can now be accomplished by cable, satellite or even 
   through the Internet.
61. He agreed to provide us with financial support but preferred to avoid direct          (involve) in
   our project.
62. Tina not only plays three musical instruments, she is also the           (conduct) of the school
   choir.
七、翻譯：15%
Part One 翻譯填空 (每格1分)

63. 我用光我的精力試著說服她接下那份工作。

   I __________ __________ all my energy trying to persuade her to take the job.
64. 我們是否該換新制服仍是學生們爭辯的焦點。
   __________ we should change our uniform remains a __________ of __________ among students.
Part Two 整句式翻譯 (每題5分，錯一處扣1分)

65. 大眾運輸的快速發展已逐漸縮短了都市和鄉村的距離。(指考96年考題)
66. 為提供一個無煙的用餐環境，許多餐廳不允許室內抽煙。(指考95年考題)
Good Luck!!
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